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Time : Three hours Maximum : 100 marks 

SECTION A — (10 × 3 = 30 marks) 

Answer any TEN questions. 

All questions carry equal marks. 

1. What is meant by Excess three codes? Give 
example. 

 ªøP•USÊUSÔ GßÓõÀ GßÚ? Euõµn® u¸P. 

2. State Demorgan’s theorem. 

 Demorgan’s ÷uØÓ® GÊxP. 

3. List any three number representation in binary. 

 ‰ßÖ C¸© ¤µv{vzxÁzøu Á›ø\¨£kzxP. 

4. What is Karnaugh map? 

 Karnaugh C¯À£h® GßÓõÀ GßÚ? 

5. Write any two characteristics of Flip-flops. 

 Flip-flops–ß Cµsk £s¦PøÍ GÊxP. 

6. What is decoder? Explain. 

 Decoder GßÓõÀ GßÚ? ÂÍUSP.  

7. What is meant by shift registers? 

 Shift register GßÓõÀ GßÚ? 
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8. What is asynchronous counter? Give example. 

 Asynchronous counter GßÓõÀ GßÚ? Euõµn® 
u¸P. 

9. List out the operations of ALU. 

 ALU ö\¯À£õmøh £mi¯¼kP. 

10. Describe the functions of the ROM memories. 

 ROM {øÚÂß ö\¯À£õmøh ÂÁ›. 

11. With an example, define registers. 

 Register–ø¯ Euõµnzxhß Áøµ¯Ö. 

12. What is meant by 2’s complement representation? 

Give example. 

 2’s complement ¤µv{vzxÁ® GßÓõÀ GßÚ? 
Euõµn® u¸P, 

SECTION B — (5 × 6 = 30 marks) 

Answer any FIVE questions. 

All questions carry equal marks. 

13. Convert the following  numbers : 

 (a) (253.23)10 = (?)8 

 (b) (10001.10001)2 = (?)16 

 ¤ßÁ¸® GsPøÍ ©õØÖ : 

 (A) (253.23)10 = (?)8 

 (B) (10001.10001)2 = (?)16 
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14. Discuss the basic theorems of Boolean algebra. 

 §¼¯ß C¯ØPouzvß Ai¨£øh ÷Põm£õkPøÍ 
ÂÁõv. 

15. Design a synchronous RS flip flop with logic 
circuit. 

 Synchronous RS flip flopø¯ logic circuit øÁzx 
ÁiÁø©UP. 

16. Explain a 1*16 bit multiplexer with truth table. 

 1*16 bit multiplexer–ø¯ truth table Ehß 
ÂÍUSP.  

17. Explain the micro operations of the accumulator. 

 Accumulatorß micro operationøÚ ÂÍUSP.  

18. Discuss the programmable logic arrays. 

 {µ÷»Ø¦ u¸UP Á›ø\ø¯ ÂÁõvUP. 

19. Discuss briefly the 4-bit input shift register with 
timing diagram. 

 ÷|µ Áøµ£h® EuÂ²hß 4-bit shift registerø¯ 
£ØÔ ÂÁ›UP. 

SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions. 

All questions carry equal marks. 

20. Explain the basic and universal logic gates with 
circuit diagram and  truth table. 

 Basic ©ØÖ® universal logic gates £ØÔ _ØÖ£h® 
©ØÖ® AmhÁøn²hß ÂÍUSP.  
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21. Minimize four variables Boolean equation using 

K-map method  

 WXYZZWXYZYWXZYWXF +′+′+′′=  

 K-map •øÓ°À §¼¯ß \©ß£õmøh _¸UPÄ®. 

 WXYZZWXYZYWXZYWXF +′+′+′′=  

22. Describe the design of the synchronous counter 

and explain with truth table. 

 Synchronous counter–ß ÁiÁø©¨ø£ ÂÁ›zx 
‘truth table’ EuÂ²hß ÂÍUSP.  

23. Construct a three bit full subtractor using logic 

gates. 

 ‰ßÖ ¤m full subtractor–ø¯ uºUP Áõ°À (logic 
gates) ‰»® Pmhø©UP. 

24. Discuss the design of the circuit using PLA with 

four inputs and four outputs. 

 |õßS EÒÏk ©ØÖ® |õßS öÁÎ±kPøÍ öPõsk 
PLAø¯ ÁiÁø©¨£øu £ØÔ ÂÁõvUP. 

25. Describe the design of arithmetic logic unit and 

their functions. 

 Arithmetic logic unit ©ØÖ® Auß ö\¯À£õkPøÍ 
ÂÁ›UP. 
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